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The tool of making silver from ore
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The tool of making silver from ore
Process 1 “KUSARIKOSHIRAE’ Process 9 “SUBUKT” Process 3 "HATHUKI - KIYOBUKI"

Silver ore set on “KANAMEISHI” (means mortar used to break ore) Melt the il
and break 1t
After then, shake the ore to divide in the water

ver ore roken at process 1 vith manganese —— yfu “RTEN" gt “HATHUKTDOKO” (2 furnace used EATHUKTHOU)

and remove impurities (Ex flowing iron)

tomake “KIEN”  (an alloy of silver and lead)
EBU ) After then, make silver of a high degree of purity doing same thing

http://ginzan.city.ohda.lg.jp/wh/ip/technology/haifuki.html
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Ash sink into lead and sepavate silver from ash
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Mni2H-8 8 Summary, Future tasks, Impression~
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You can change 60moku gin for one koban
If vou have 8,5000moku, how manv kobans can vou change?

Answer
141 skobans and 10moku gin

Solution
If vou daivide 5, 000moku by 60molku, voull get 141 6666 kobans.
1 change for money, numbers after decimal point times 4 1= 0.5 kobans and
0.66.
You divide 6.66 bv 4, voull get 1.666.
Here, market of kobans 1= 60.
1 666 times 60 1= 99896

Solution{formula)
S 000moku—60moku=—141 6666 kobans

O.66bkobans = 4=0.5koban and &.66
6.66=—4=1.666
1.666 = 60moku=— 9996
= 10moku

~Question2 Q&A,Solution~
BY A I

The Gin™! are 1000=em== that made by Hihukihou™Z.
There changes Jyogin.*
How much Jvogin as the Gin 1.2 times Jogn?
# 1 Jogin Gin---Edo piriodo’s money.
# “Haihukifou---The way of making money in Edo period .

Guestion

Answer
AJomn are 533.933+ I mean vou get 833Jogins.

Soluton
The Gin 1.2 times Jogin from question

I mean.

~Question3 Q&A,Solution~
BY A&
Questions

J000=®=2s mn that made by Hathukihou-hou.
If vou change Jvogin as the Gin 0.72 times then, how much Jvogin can vou

change!

Answer : Z22o0=F=E Jyomn

Solution
072 times 1000manme g To(jwemme
Then a000manme 1= 3 times as low as 1000 meme
3 times [o(jmemss o 29 A[poome

Solution (formula)
1000maenme » ()75 = To(monme
3000Qmemze- ] jQQHmeme = 3
TH(pmomneyw 3= 27 h(momre

)

E
— /
FEngh=h summarwv
1 The mumber of Koban 1= solved by daviding the market price of Koban
to Chougin. .

Q2.3 The number of Jyvogin 1s solved byv dividing the value of Jyvougin to
Hashulkagin.

Impresstions
I found that mathematics 1nn the Edo period use various device to make
solution clear, and common point of todav's mathematics and Edo period’'s
mathematics also.
Then we could know about culture and monetary organization in those davs
through Edo periods mathematics.
Thus these were valuable experience.

Future Tasks
Tomake a closer examination of units.




